
1) 43 - 16

Answer: ____________

2) Find the mean of the following set of data:

4, 0.6, 15, 1, 0.9

Answer: ____________

3)
18

Volume of Cone
10

Answer: ____________

4)
18

Volume of Cone
10

Answer: ____________

5) A number was shared in the ratio 2:6. 
The smaller share was 30. What was 
the larger amount?

Answer: ____________

6) Decrease 267 by 1/89

Answer: ____________

7) 50% of 17

Answer: ____________

8) 14/2 - 20/9

Answer: ____________

9) Write 0.0001 in standard form.

Answer: ____________

10) 12 ÷ 2

Answer: ____________

Total: ___ / 10
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